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This paper consists of NINE (9) questions. Answer ALL questions in the answer bookiet
provided. [100 MARKS]

1.

Saolve the following to find x or the range of x.

a) |5—-2x|=|x+4] {4 marks)

by (G%?+6=7(5%) {6 marks)
4 5

c)y x-— o = 3 (5 marks)

A group of 112 students attend an orientation program in a university. They are divided
into groups to participate in anactivity. The first group consists of 4 students, the second
group consists of 8 students, the third group consists of 12 students and so on. Suppose
that the formafion of the group follows the system above, by using methods in sequence
and series, calculate

a) the number of groups that will be formed. (5 marks)

b) the number of studaents in the last group. {3 marks)

Amelia purchased a new home entertainment system that costs her RM 12000, She
makes her payment through a monthly instalment system where she puts in RM 200 in
the first month, RM 300 in the second month and RM 450 in the third month and so on.
Given the system, by using methods in sequence and series, calculate

a) how many months will she take to pay the total amount. (5 marks)

b) the payment made on the sixth month, {2 marks)

Given the following equations, sketch the graph of
a) 4y=8x+4 {6 marks)

b) 2x2+6x+5=0 (8 marks)
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5.

Given (he following funcfions, find

fFX)=x+2 and flgx)]l=4x*+9

a) f® (2 marks)
b)  g(x)given flg(x)] = 4x*> +9 (4 marks)
c)  g°f(x) based on the answer in (b). (4 marks)

Qaleesya is a home baker and currently selling dessert combos for Mothers’ Day.
Combo A consists of a box of cream puffs, a box of mini brownies and 2 boxes of
cinnamon rolls and is priced at RM 196. Combo B consists of one box of cream puffs,
one box of brownies and one box of cinnamon rolls and is priced at RM 158. Combo C
consists of 2 boxes of eream puffs and 1 box of cinnamon rolls and is priced at RM 138.

Assume that the price of the desserts are indicated follows:

x = price of one box6f cream puff
= price of one box of brownies
z = price of one box of cinnamon rolls

Based on the information-abowve, solve for x, y and z using matrices operation. (15 marks)

Given a polynomial of P(x) = 3x% = 10x? — 27x -+ 10,
a) by using factor theorem, show that (x + 2) is a factor of P{x) (4 marks)

b) by using long division, find the quotient when P(x) is divided with (x + 5).

{7 marks)
Decompose the fraction below into its partial fraction.
5x—13
(x—1)(x-3)
(10 marks)
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9.  Determine the continuity of f(x) for each of the following.

x*—36
xZ—x—2

atx =2 (5 marks)

a) f(x)=

b) f(x)= E atx =4 (5 marks)

*** END OF QUESTION PAPER ***
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Formula

x% x xP = xatb

xa
==
(™)’ = x
(y)* = x%y

a

6 -2
y ¥

xa—b

ah

a

Properties of logarithms

log,(xy) = log,x + log,y
X
log, (3—,) = log, x (= logay
log,x™ =n log, x
N 1
log,(Vx) = = (log, x)

log.a
log.b

logpa =

Quadratic formula

—b +b?% —4ac
Xxr=—-————
2a

Arithmetic progression

T, = a+(n-1)d
n
Sn=§[2a+(n—1)d

Geometric progression
T, = ar®?

a(l1—-r"

Sy = p— i
a(r"—1)

H — ,r>1

Vertex: h = —b/2a

CONFIDENTIAL

Matrices

AX=B

AL = - Adi (A)
1Al

Adj(A) = [Cy]T

Cyj = (=1}

X=A"lB

Partial fraction

if Q(x) has a form of (ax +b), then

PG) P® A B
Q) (x+a)x+b) (x+a) i (x +b)

If Q(x) has a form of (ax + b)* then

Px) P(x) = A B
Q) (ax+b)E (x4 b) | (ax D)

If Q(x) has a form of (ax? + bx + ¢) then

P(x) P(x)
Q(x) (x—d)(ax2+bx+c)

_0C | Ax+B
T (x—d) (ax2+bx40)

If Q@) has a form of (ax? + bx + )k then
P(x). P(x)
Q(x) _H{ax? + bx + ¢)?

Y Ax+B + Cx+D
T (ax?2 +bx+¢) ' (ax? + bx +c)?
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